
SOLUTION: 
Use two segments of each “flux capacitor” to make a semaphore letter. Each row 
yields a four-letter word that matches the given hint. 
Then pair up the leftover segments to make a new, eight-letter word which matches 
the final hint! 

ANSWER: EX-WIZARD 

X                                        I                              N                     U 

          K                              I                              V                     U 

            I                            S                              M                              Y 

   S                              U                              C                                    K 

E                                                                    X 

W                                                              I 

Z                                                             A 

R                                                             D 


